

## GENERALIZATION OF $K$ -DIVERGENCE AND RELATED MEANS

M. ANWAR, G. FARID AND J. PEČARIĆ

*Abstract.* In this paper, we give a generalization of  $K$ -divergence measure and related results by using some log-convexity criteria. Also we give related Cauchy means and prove monotonicity of these means.

### 1. Introduction

For a given function  $\phi$  defined on an interval  $I \subseteq \mathbb{R}$  the  $\phi$  entropy of  $\mathbf{x} \in I^n$  is defined by:

$$H_{n,\phi}(\mathbf{x}) = - \sum_{i=1}^n \phi(x_i).$$

For two vectors  $\mathbf{x}, \mathbf{y} \in I^n$ , the Jensen difference is defined by:

$$J_{n,\phi}(\mathbf{x}, \mathbf{y}) = H_{n,\phi}\left(\frac{\mathbf{x} + \mathbf{y}}{2}\right) - \frac{1}{2} [H_{n,\phi}(\mathbf{x}) + H_{n,\phi}(\mathbf{y})]. \quad (1)$$

Several divergence measures are defined in the statistical literature to reflect the fact that some probability distributions are closer together than other and, consequently, that it may be easier to distinguish between the distribution of one pair than between those of the other. An important measure of divergence is  $J_{n,\phi}$  defined in (1) also known as  $J$ -divergence [3]. This divergence has some interesting properties, see for example [4], p. 16. For applications of this divergence see [6, 8, 9]. Another important measure of divergence is  $K$ -divergence introduced by Burbea and Rao [3]. This measure is defined by:

$$K_{n,\phi}(\mathbf{x}, \mathbf{y}) = \sum_{i=1}^n (x_i - y_i) \left( \frac{\phi(x_i)}{x_i} - \frac{\phi(y_i)}{y_i} \right), \quad (2)$$

where function  $\phi$  is on an interval  $I$  not containing zero such that the function defined by  $x \rightarrow \frac{\phi(x)}{x}$  is increasing function and  $\mathbf{x}, \mathbf{y} \in I^n$ .

In [3] we have an order relation between two divergence measures  $J$  and  $K$  defined above that is the following result.

---

*Mathematics subject classification* (2010): 26A46, 26A48.

*Keywords and phrases:* Convex function,  $K$ -divergence,  $J$ -divergence, log-convexity, Cauchy means.

The research of the third author is supported by the Croatian Ministry of Science, Education and Sports under the Research Grant 117-1170889-0888.

THEOREM 1.1. For any  $\mathbf{x}, \mathbf{y} \in \mathbb{R}_+^n$

$$4J_{n,\phi}(\mathbf{x}, \mathbf{y}) \geq K_{n,\phi}(\mathbf{x}, \mathbf{y}) \tag{3}$$

if and only if the function defined by  $x \rightarrow \frac{\phi(x)}{x}$  is convex. The equality occurs if and only if  $\mathbf{x} = \mathbf{y}$ .

In this paper without loss of generality we assume that  $J$  and  $K$  are  $n$ -dimensional so we write  $J_\phi$  and  $K_\phi$  instead of  $J_{n,\phi}$  and  $K_{n,\phi}$ .

The special case of  $K$ -divergences for the function (cf. [3])

$\phi_\alpha : \mathbb{R}^+ \rightarrow \mathbb{R}, \alpha > 0$ , defined by

$$\phi_\alpha(x) = \begin{cases} (\alpha - 1)^{-1}(x^\alpha - x), & \alpha \neq 1; \\ x \log x, & \alpha = 1, \end{cases} \tag{4}$$

is denoted by  $\mathfrak{K}_{n,\alpha}$  with respective forms

$$\mathfrak{K}_{n,\alpha}(\mathbf{x}, \mathbf{y}) = \begin{cases} (\alpha - 1)^{-1} \sum_{i=1}^n (x_i - y_i)(x_i^{\alpha-1} - y_i^{\alpha-1}), & \alpha \neq 1; \\ \sum_{i=1}^n (x_i - y_i)(\log x_i - \log y_i), & \alpha = 1. \end{cases} \tag{5}$$

By using positivity of (2), the following results are given in [5].

THEOREM 1.2.  $\mathfrak{K}_{n,p}$  defined by (5) is log-convex, that is,

$$[\mathfrak{K}_{n,p}(\mathbf{x}, \mathbf{y})]^{r-s} \leq [\mathfrak{K}_{n,s}(\mathbf{x}, \mathbf{y})]^{r-p} [\mathfrak{K}_{n,r}(\mathbf{x}, \mathbf{y})]^{p-s} \text{ for } -\infty < r < s < p < \infty. \tag{6}$$

COROLLARY 1.3. For  $p, r, s, t \in \mathbb{R}$  such that  $r \leq s, p \leq t$  with  $r \neq p, s \neq t$  the following inequality holds

$$\left( \frac{\mathfrak{K}_{n,p}(\mathbf{x}, \mathbf{y})}{\mathfrak{K}_{n,r}(\mathbf{x}, \mathbf{y})} \right)^{\frac{1}{p-r}} \leq \left( \frac{\mathfrak{K}_{n,t}(\mathbf{x}, \mathbf{y})}{\mathfrak{K}_{n,s}(\mathbf{x}, \mathbf{y})} \right)^{\frac{1}{t-s}}.$$

In this paper we give extensions of results from [5] as well as some corresponding mean value theorems. We also introduce corresponding Cauchy means and establish monotonicity of the Cauchy means.

### 2. Results related to relation between $J$ and $K$

In this section results related to difference of  $J$  and  $K$  divergence are discussed. Firstly Mean value theorems and convexity after which the corresponding Cauchy means are given.

LEMMA 2.1. Let  $f \in C^2(I)$ , where  $I$  is compact interval in  $\mathbb{R}$  does not containing zero and  $m, M$  be such that

$$m \leq \frac{x^2 f''(x) - 2x f'(x) + 2f(x)}{x^3} \leq M. \tag{7}$$

If the functions  $\phi_1, \phi_2$  are defined on  $I$  by:

$$\phi_1(x) = M\frac{x^3}{2} - f(x),$$

$$\phi_2(x) = f(x) - m\frac{x^3}{2}$$

then the functions  $x \rightarrow \frac{\phi_1(x)}{x}$  and  $x \rightarrow \frac{\phi_2(x)}{x}$  are convex.

*Proof.* Since  $\left(\frac{\phi_1(x)}{x}\right)'' = M - \frac{x^2 f''(x) - 2xf'(x) + 2f(x)}{x^3} \geq 0$ ,  $\frac{\phi_1(x)}{x}$  is convex function. Similarly we have that  $\frac{\phi_2(x)}{x}$  is convex function too.

DEFINITION 2.2. Let  $I$  be a real interval not containing zero and  $\phi : I \rightarrow \mathbb{R}$  such that the function defined by  $x \rightarrow \frac{\phi(x)}{x}$  is convex. We define  $D$ -divergence  $D(\mathbf{x}, \mathbf{y}, \phi)$  by:

$$D(\mathbf{x}, \mathbf{y}, \phi) = 4J_\phi(\mathbf{x}, \mathbf{y}) - K_\phi(\mathbf{x}, \mathbf{y}) \tag{8}$$

where  $\mathbf{x}, \mathbf{y} \in I^n$ .

THEOREM 2.3. If  $f \in C^2(I)$ , where  $I$  is a compact interval in  $\mathbb{R}$  not containing zero, then there exists  $\xi$  such that the following equality is valid

$$D(\mathbf{x}, \mathbf{y}, f) = \frac{\xi^2 f''(\xi) - 2\xi f'(\xi) + 2f(\xi)}{\xi^3} \times \sum_{i=1}^n \left[ (x_i^3 + y_i^3) - \frac{1}{4}(x_i - y_i)^3 - (x_i - y_i) \left( \frac{x_i^2}{2} - \frac{y_i^2}{2} \right) \right]. \tag{9}$$

*Proof.* Suppose  $\min_{x \in I} \left(\frac{f(x)}{x}\right)'' = m$  and  $\max_{x \in I} \left(\frac{f(x)}{x}\right)'' = M$ . By using  $\phi_1$  instead of  $f$  in (3) we obtain

$$\sum_{i=1}^n 4 \left\{ \frac{1}{2} (\phi_1(x_i) + \phi_1(y_i)) - \phi_1\left(\frac{x_i + y_i}{2}\right) \right\} - (x_i - y_i) \left( \frac{\phi_1(x_i)}{x_i} - \frac{\phi_1(y_i)}{y_i} \right) > 0$$

for  $\mathbf{x} \neq \mathbf{y}$  because  $\frac{\phi_1(x)}{x}$  is strictly convex. Therefore we have

$$\sum_{i=1}^n 4 \left\{ \frac{1}{2} \left( M\frac{x_i^3}{2} + M\frac{y_i^3}{2} - f(x_i) - f(y_i) \right) - \frac{M}{2} \left( \frac{x_i + y_i}{2} \right)^3 f\left(\frac{x_i + y_i}{2}\right) \right\} - (x_i - y_i) \left( \frac{M}{2} (x_i^2 - y_i^2) - \frac{f(x_i)}{x_i} + \frac{f(y_i)}{y_i} \right) > 0$$

which implies the inequality

$$D(\mathbf{x}, \mathbf{y}, f) \geq M \sum_{i=1}^n \left[ (x_i^3 + y_i^3) - \frac{1}{4}(x_i - y_i)^3 - (x_i - y_i) \left( \frac{x_i^2}{2} - \frac{y_i^2}{2} \right) \right]. \tag{10}$$

Similarly, using  $\phi_2$  in (3) instead of  $f$  we get

$$D(\mathbf{x}, \mathbf{y}, f) \leq m \sum_{i=1}^n \left[ (x_i^3 + y_i^3) - \frac{1}{4}(x_i - y_i)^3 - (x_i - y_i) \left( \frac{x_i^2}{2} - \frac{y_i^2}{2} \right) \right]. \tag{11}$$

By combining inequalities (10) and (11) and using intermediate value theorem, that is for  $m \leq \frac{x^2 f''(x) - 2x f'(x) + 2f(x)}{x^3} \leq M$  there exist  $\xi \in I$  such that we get (9).

**THEOREM 2.4.** *Let  $f, g \in C^2(I)$ , where  $I$  is a compact interval in  $\mathbb{R}$  not containing origin, then there exists  $\xi$  such that the following equality is valid*

$$\frac{D(\mathbf{x}, \mathbf{y}, f)}{D(\mathbf{x}, \mathbf{y}, g)} = \frac{\xi^2 f''(\xi) - 2\xi f'(\xi) + 2f(\xi)}{\xi^2 g''(\xi) - 2\xi g'(\xi) + 2g(\xi)} \tag{12}$$

provided the denominators are non zero.

*Proof.* The proof is similar to the proof of Theorem 3.3 in [2].

**COROLLARY 2.5.** *Let the function  $K$  defined by:*

$$K(\xi) = \frac{D(\mathbf{x}, \mathbf{y}, f)}{D(\mathbf{x}, \mathbf{y}, g)} = \frac{\xi^2 f''(\xi) - 2\xi f'(\xi) + 2f(\xi)}{\xi^2 g''(\xi) - 2\xi g'(\xi) + 2g(\xi)} \tag{13}$$

If  $K$  is invertible then

$$\xi = K^{-1} \left( \frac{D(\mathbf{x}, \mathbf{y}, f)}{D(\mathbf{x}, \mathbf{y}, g)} \right) \tag{14}$$

is a new mean provided that the denominator is non zero.

*Proof.* Since  $\xi \in I$  and  $\min x_i \leq \xi \leq \max x_i$  (14) implies

$$\min x_i \leq K^{-1} \left( \frac{D(\mathbf{x}, \mathbf{y}, f)}{D(\mathbf{x}, \mathbf{y}, g)} \right) \leq \max x_i .$$

**LEMMA 2.6.** *Let the function  $\psi_p$  defined by:*

$$\psi_p(x) = \begin{cases} \frac{x^{p+1}}{p(p-1)} & p \neq 0, 1 \\ x^2 \log x & p = 1 \\ -x \log x & p = 0. \end{cases} \tag{15}$$

Then the function defined by  $x \rightarrow \frac{\psi_p(x)}{x}$  is convex for  $x > 0$ .

An important corollary of Theorem 2.4 is:

COROLLARY 2.7. Let the function  $\psi_p$  be as defined above and  $\frac{D(\mathbf{x}, \psi_p)}{D(\mathbf{x}, \psi_r)} = \xi^{p-r}$  for some  $\xi \in I$  and  $p \neq r$  such that  $D(\mathbf{x}, \psi_s) \neq 0, s = p, r$ . Then we have another mean

$$\xi = \left( \frac{D(\mathbf{x}, \psi_p)}{D(\mathbf{x}, \psi_r)} \right)^{\frac{1}{p-r}}.$$

In the following results exponential convexity and log-convexity of this new divergence measure  $D$  is discussed. First we give a definition and some results which will be needed.

DEFINITION 2.8. A function  $f : (a, b) \rightarrow \mathbb{R}$  is exponentially convex if it is continuous and

$$\sum_{i,j=1}^n a_i a_j f(x_i + x_j) \geq 0 \tag{16}$$

for all  $n \in \mathbb{N}$  and all choices  $a_i \in \mathbb{R}, i = 1, \dots, n$  such that  $x_i + x_j \in (a, b), 1 \leq i, j \leq n$ .

For exponentially convex function  $f : (a, b) \rightarrow \mathbb{R}$ , (16) is valid for all  $x_i + x_j \in (a, b), 1 \leq i, j \leq n$  and it is also valid for all  $\frac{x_i + x_j}{2} \in (a, b), 1 \leq i, j \leq n$  that is

$$\sum_{i,j=1}^n a_i a_j f\left(\frac{x_i + x_j}{2}\right) \geq 0, \tag{17}$$

holds for every  $a_i \in \mathbb{R}$  and every  $x_i \in (a, b), 1 \leq i \leq n$ .

If  $f$  is exponentially convex then

$$\det \left[ f\left(\frac{x_i + x_j}{2}\right) \right]_{i,j=1}^n \geq 0 \tag{18}$$

for every  $n \in \mathbb{N}, x_i \in (a, b), i = 1, \dots, n$ .

THEOREM 2.9. Let  $D(\mathbf{x}, \psi_p)$  be as defined above. Then:

1. The matrix  $\left[ D(\mathbf{x}, \psi_{\frac{p_i+p_j}{2}}) \right]_{i,j=1}^n$  is a positive semi definite matrix.
2. The function  $t \mapsto D(\mathbf{x}, \psi_t)$  is exponentially convex.
3. If  $D(\mathbf{x}, \psi_p)$  is positive then it is log-convex, that is

$$[D(\mathbf{x}, \psi_p)]^{r-s} \leq [D(\mathbf{x}, \psi_r)]^{p-s} [D(\mathbf{x}, \psi_s)]^{r-p}$$

for  $-\infty < r < s < p < \infty$ .

*Proof.*

1. Consider the function  $f$  defined by:

$$f(x) = \sum_{i,j=1}^k u_i u_j \psi_{t_{ij}}(x) \tag{A}$$

for  $k = 1, \dots, n, x > 0, u_i \in \mathbb{R}$  and  $t_{ij} = \frac{p_i + p_j}{2}$ . Then

$$\frac{f(x)}{x} = \sum_{i,j=1}^k u_i u_j \frac{\psi_{t_{ij}}(x)}{x}$$

$$\left(\frac{f(x)}{x}\right)'' = \sum_{i,j=1}^k u_i u_j x^{t_{ij}-2} = \left(\sum_{i=1}^n u_i x^{\frac{p_i-1}{2}}\right)^2 \geq 0$$

that is the function defined by  $x \rightarrow \frac{\psi_p(x)}{x}$  is convex. Using  $f$  defined as in (8) we obtain

$$\sum_{i=1}^n 4 \left\{ \frac{1}{2} (f(x_i) + f(y_i)) - f\left(\frac{x_i + y_i}{2}\right) \right\} - (x_i - y_i) \left( \frac{f(x_i)}{x_i} - \frac{f(y_i)}{y_i} \right) \geq 0.$$

Now by substituting  $f$  as defined in (A) we obtain

$$\sum_{i,j=1}^n u_i u_j D(\mathbf{x}, \mathbf{y}, \psi_{t_{ij}}) \geq 0 \tag{19}$$

which implies positive semi definiteness.

2. We have  $\lim_{p \rightarrow 0} D(\mathbf{x}, \mathbf{y}, \psi_p) = D(\mathbf{x}, \mathbf{y}, \psi_0)$ ,  $\lim_{p \rightarrow 1} D(\mathbf{x}, \mathbf{y}, \psi_p) = D(\mathbf{x}, \mathbf{y}, \psi_1)$ . This implies  $D(\mathbf{x}, \mathbf{y}, \psi_p)$  is continuous for all  $p$ . Therefore by (17) we have exponential convexity of the function  $D(\mathbf{x}, \mathbf{y}, \psi_p)$ .
3. Now for  $n = 2$ ,  $\mathbf{D}(p) := D(\mathbf{x}, \mathbf{y}, \psi_p)$  is log-convex that is for  $-\infty < r < s < p < \infty$  the following is valid

$$[D(\mathbf{x}, \mathbf{y}, \psi_p)]^{r-s} \leq [D(\mathbf{x}, \mathbf{y}, \psi_r)]^{p-s} [D(\mathbf{x}, \mathbf{y}, \psi_s)]^{r-p}.$$

DEFINITION 2.10. For  $r, s \in \mathbb{R}$  we define generalized mean  $M_{s,r}$  by

$$M_{s,r} = \left( \frac{D(\mathbf{x}, \mathbf{y}, \psi_s)}{D(\mathbf{x}, \mathbf{y}, \psi_r)} \right)^{\frac{1}{s-r}} \quad s \neq r \tag{20}$$

where  $D(\mathbf{x}, \mathbf{y}, \psi_p) \neq 0$  for  $p = r, s$ .

Other cases can be obtained by taking limits as:

$$\begin{aligned}
 M_{s,0} &= \left( \frac{-\sum_{i=1}^n \{4(\frac{x_i+y_i}{2})^{s+1} - 2(x_i^{s+1} + y_i^{s+1}) + (x_i - y_i)(x_i^s - y_i^s)\}}{s(s-1) \sum_{i=1}^n \{2(x_i+y_i) \log \frac{x_i+y_i}{2} - 2(x_i \log x_i + y_i \log y_i) + (x_i - y_i)(\log x_i - \log y_i)\}} \right)^{\frac{1}{s}}, \quad s \neq 0, 1 \\
 M_{1,0} &= \left( \frac{-\sum_{i=1}^n \{(x_i+y_i)^2 \log(\frac{x_i+y_i}{2}) - 2(x_i^2 \log x_i + y_i^2 \log y_i) + (x_i - y_i)(x_i \log x_i - y_i \log y_i)\}}{\sum_{i=1}^n \{2(x_i+y_i) \log \frac{x_i+y_i}{2} - 2(x_i \log x_i + y_i \log y_i) + (x_i - y_i)(\log x_i - \log y_i)\}} \right), \\
 M_{s,s} &= \exp \left( \frac{\sum_{i=1}^n \{4(\frac{x_i+y_i}{2})^{s+1} \log(\frac{x_i+y_i}{2}) - 2(x_i^{s+1} \log x_i + y_i^{s+1} \log y_i) + (x_i - y_i)(x_i^s \log x_i - y_i^s \log y_i)\}}{\sum_{i=1}^n \{4(\frac{x_i+y_i}{2})^{s+1} - 2(x_i^{s+1} + y_i^{s+1}) + (x_i - y_i)(x_i^s - y_i^s)\}} - \frac{2s-1}{s(s-1)} \right), \\
 & \hspace{25em} s \neq 0, 1 \\
 M_{0,0} &= \exp \left( \frac{\sum_{i=1}^n \{2(x_i+y_i) \log^2(\frac{x_i+y_i}{2}) - 2(x_i \log^2 x_i + y_i \log^2 y_i) + (x_i - y_i)(\log^2 x_i - \log^2 y_i)\}}{2 \sum_{i=1}^n \{2(x_i+y_i) \log(\frac{x_i+y_i}{2}) - 2(x_i \log x_i + y_i \log y_i) + (x_i - y_i)(\log x_i - \log y_i)\}} + 1 \right) \\
 M_{1,1} &= \exp \left( \frac{\sum_{i=1}^n \{(x_i+y_i)^2 \log^2(\frac{x_i+y_i}{2}) - 2(x_i^2 \log^2 x_i + y_i^2 \log^2 y_i) + (x_i - y_i)(x_i \log^2 x_i - y_i \log^2 y_i)\}}{2 \sum_{i=1}^n \{(x_i+y_i)^2 \log(\frac{x_i+y_i}{2}) - 2(x_i^2 \log x_i + y_i^2 \log y_i) + (x_i - y_i)(x_i \log x_i - y_i \log y_i)\}} + 1 \right)
 \end{aligned}$$

**THEOREM 2.11.** For  $p, r, s, t \in \mathbb{R}$  such that  $r \leq s$  and  $p \leq t$  the following inequality is valid

$$M_{p,r} \leq M_{t,s}.$$

*Proof.* The proof is similar to the proof of Theorem 3.4 in [1].

### 3. Results related to $K$ divergence

In this section we consider the following generalization of (2).

**DEFINITION 3.1.** For real valued functions  $h_i, i = 1, \dots, n, f, h$  on some interval  $I$  such that  $h_i, i = 1, \dots, n$  and  $\frac{f}{h}$  are strictly increasing functions, we define T-divergence  $T(\mathbf{x}, \mathbf{y}, f)$  by:

$$T(\mathbf{x}, \mathbf{y}, f) = \sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) \left( \frac{f(x_i)}{h(x_i)} - \frac{f(y_i)}{h(y_i)} \right), \tag{21}$$

where  $\mathbf{x}, \mathbf{y} \in I^n$  and  $p_i$  are positive reals.

**LEMMA 3.2.** Let  $f, h \in C^1(I)$ , where  $I$  is a compact interval in  $\mathbb{R}$  does not contain zero, be such that the function defined by  $x \rightarrow \frac{f}{h}(x)$  is in  $C^1(I)$  and  $\xi \in I$  be such that

$$m \leq \frac{f'(\xi)h(\xi) - h'(\xi)f(\xi)}{h^2(\xi)} \leq M. \tag{22}$$

Let the functions  $\phi_1, \phi_2$  defined by  $\phi_1(x) = Mxh(x) - f(x)$ , and  $\phi_2(x) = f(x) - mxh(x)$ , then the function defined by  $x \rightarrow \frac{\phi_i}{h}(x)$  for  $i = 1, 2$  are increasing.

*Proof.* Since  $\left(\frac{\phi_1(x)}{h(x)}\right)' = M - \frac{f'(x)h(x) - h'(x)f(x)}{h^2(x)} \geq 0$  therefore  $\frac{\phi_1}{h}$  is increasing function. Similarly we have that  $\frac{\phi_2}{h}$  is increasing function too.

By using this lemma we have the following result.

**THEOREM 3.3.** *If  $\frac{f}{h} \in C^1(I)$ , where  $I$  is a compact interval in  $\mathbb{R}$  and  $\frac{f}{h}, h_i, i = 1, \dots, n$  be strictly increasing functions then there exists  $\xi$  such that the following equality is valid*

$$T(\mathbf{x}, \mathbf{y}, f) = \frac{f'(\xi)h(\xi) - h'(\xi)f(\xi)}{h^2(\xi)} \sum_{i=1}^n p_i(h_i(x_i) - h_i(y_i))(x_i - y_i). \tag{23}$$

**THEOREM 3.4.** *Let  $\frac{f}{h}, \frac{g}{h} \in C^1(I)$  and  $\frac{f}{h}, \frac{g}{h}, h_i, i = 1, \dots, n$  be strictly increasing. Then for  $\mathbf{x} \neq \mathbf{y}$  there exists  $\xi \in I$  such that the following equality is valid*

$$\frac{T(\mathbf{x}, \mathbf{y}, f)}{T(\mathbf{x}, \mathbf{y}, g)} = \frac{f'(\xi)h(\xi) - h'(\xi)f(\xi)}{g'(\xi)h(\xi) - h'(\xi)g(\xi)} \tag{24}$$

provided the denominators are not zero.

*Proof.* The proof is similar to the proof of Theorem 2.4.

**COROLLARY 3.5.** *Let the function  $K(\xi)$  defined by*

$$K(\xi) = \frac{T(\mathbf{x}, \mathbf{y}, f)}{T(\mathbf{x}, \mathbf{y}, g)} = \frac{f'(\xi)h(\xi) - h'(\xi)f(\xi)}{g'(\xi)h(\xi) - h'(\xi)g(\xi)} \tag{25}$$

If  $K$  is invertible then

$$\xi = K^{-1}\left(\frac{T(\mathbf{x}, \mathbf{y}, f)}{T(\mathbf{x}, \mathbf{y}, g)}\right) \tag{26}$$

is a new mean provided that the denominator is non zero.

*Proof.* Since  $\xi \in I$  and  $\min x_i \leq \xi \leq \max x_i$ , (26) implies

$$\min x_i \leq K^{-1}\left(\frac{T(\mathbf{x}, \mathbf{y}, f)}{T(\mathbf{x}, \mathbf{y}, g)}\right) \leq \max x_i .$$

**LEMMA 3.6.** *Consider the function*

$$\psi_p(x) = \begin{cases} \frac{x^p h(x)}{p} & p \neq 0 \\ h(x) \log x & p = 0. \end{cases} \tag{27}$$

Then the function defined by  $x \rightarrow \frac{\psi_p}{h}(x)$  is strictly increasing for  $x > 0$ .

If we put  $p = \alpha - 1$  and  $h_i(x) = x$  and denote  $T(\mathbf{x}, \mathbf{y}, \psi_p)$  by  $k_\alpha(\mathbf{x}, \mathbf{y}; \mathbf{p})$  then we have

$$k_\alpha(\mathbf{x}, \mathbf{y}; \mathbf{p}) = \begin{cases} \frac{1}{\alpha-1} \sum_{i=1}^n p_i(x_i - y_i)(x_i^{\alpha-1} - y_i^{\alpha-1}), & \alpha \neq 1, \\ \sum_{i=1}^n p_i(x_i - y_i)(\log x_i - \log y_i), & \alpha = 1. \end{cases}$$



REMARK 3.7. If we put  $p_i = 1, i = 1, \dots, n$  in above equation. Then we get  $\mathfrak{K}_\alpha(\mathbf{x}, \mathbf{y})$  as defined above in (5).

Another corollary of Theorem 3.4 stated as.

COROLLARY 3.8. Let the function  $\psi_p$  be as (27), and  $\frac{T(\mathbf{x}, \mathbf{y}, \psi_p)}{T(\mathbf{x}, \mathbf{y}, \psi_r)} = \xi^{p-r}$  for some  $\xi \in I$  and  $p \neq r$  such that  $T(\mathbf{x}, \mathbf{y}, \psi_s) \neq 0, s = p, r$  and so we have another mean

$$\xi = \left( \frac{T(\mathbf{x}, \mathbf{y}, \psi_p)}{T(\mathbf{x}, \mathbf{y}, \psi_r)} \right)^{\frac{1}{p-r}}.$$

REMARK 3.9. If we put  $p = \alpha - 1$  and  $r = \beta - 1$  in Corollary 2.7 such that  $k_\gamma(\mathbf{x}, \mathbf{y}; \mathbf{p}) \neq 0, \text{ for } \gamma = \alpha, \beta$  then we have

$$\xi = \left( \frac{k_\alpha(\mathbf{x}, \mathbf{y}; \mathbf{p})}{k_\beta(\mathbf{x}, \mathbf{y}; \mathbf{p})} \right)^{\frac{1}{\alpha-\beta}}.$$

In the next result exponential convexity and log-convexity of this new divergence measure  $T$  is discussed.

THEOREM 3.10. Let  $T(\mathbf{x}, \mathbf{y}, \psi_p)$  be as defined above. Then: have

1. The matrix  $\left[ T(\mathbf{x}, \mathbf{y}, \psi_{\frac{p_i+p_j}{2}}) \right]_{i,j=1}^n$  is a positive semi definite matrix.
2. The function  $t \mapsto T(\mathbf{x}, \mathbf{y}, \psi_t)$  is exponentially convex.
3. If  $T(\mathbf{x}, \mathbf{y}, \psi_p)$  is positive then it is log-convex, that is

$$[T(\mathbf{x}, \mathbf{y}, \psi_p)]^{r-s} \leq [T(\mathbf{x}, \mathbf{y}, \psi_r)]^{p-s} [T(\mathbf{x}, \mathbf{y}, \psi_s)]^{r-p}$$

for  $-\infty < r < s < p < \infty$ .

*Proof.* The proof is similar to the proof of Theorem 2.9.

REMARK 3.11. If we put  $p = \alpha - 1, r = \beta - 1, s = \gamma - 1$  in Theorem 3.14 (3) we get

$$[k_{n,\alpha}(\mathbf{x}, \mathbf{y}; \mathbf{p})]^{\beta-\gamma} \leq [k_{n,\beta}(\mathbf{x}, \mathbf{y}; \mathbf{p})]^{\alpha-\gamma} [k_{n,\gamma}(\mathbf{x}, \mathbf{y}; \mathbf{p})]^{\beta-\alpha}$$

which is an extension of (6).

DEFINITION 3.12. For  $r, s \in \mathbb{R}$  we define generalized mean  $M_{s,r}$  by

$$M_{s,r} = \left( \frac{T(\mathbf{x}, \mathbf{y}, \psi_s)}{T(\mathbf{x}, \mathbf{y}, \psi_r)} \right)^{\frac{1}{s-r}} \quad s \neq r \tag{28}$$

where  $T(\mathbf{x}, \mathbf{y}, \psi_p) \neq 0$  for  $p = r, s$ .

Other cases can be obtained by taking limits as:

$$M_{s,s} = \exp \left( \frac{\sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) [s(x_i^s \log x_i - y_i^s \log y_i) - (x_i^s - y_i^s)]}{s \sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) (x_i^s - y_i^s)} \right), \quad s \neq 0$$

$$M_{0,0} = \exp \left( \frac{\sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) ((\log x_i)^2 - (\log y_i)^2)}{2 \sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) (\log x_i - \log y_i)} \right).$$

REMARK 3.13. If we put  $s = \alpha - 1$  and  $r = \beta - 1$  and  $h_i(x) = x, i = 1, \dots, n$  in (28) we get

$$\tilde{M}_{\alpha,\beta} =: M_{\alpha-1,\beta-1} = \left( \frac{k_\alpha(\mathbf{x}, \mathbf{y}; \mathbf{p})}{k_\beta(\mathbf{x}, \mathbf{y}; \mathbf{p})} \right)^{\frac{1}{\alpha-\beta}}$$

where  $\alpha \neq \beta \neq 1$ . For  $\alpha, \beta \in \mathbb{R}$  we have

$$\tilde{M}_{\alpha,\beta} = \begin{cases} \left( \frac{k_{n,\alpha}(\mathbf{x}, \mathbf{y}; \mathbf{p})}{k_{n,\beta}(\mathbf{x}, \mathbf{y}; \mathbf{p})} \right)^{\frac{1}{\alpha-\beta}}, & \alpha \neq \beta; \\ \exp \left( \frac{\sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) [(\alpha-1)(x_i^{\alpha-1} \log x_i - y_i^{\alpha-1} \log y_i) - (x_i^{\alpha-1} - y_i^{\alpha-1})]}{(\alpha-1) \sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) (x_i^{\alpha-1} - y_i^{\alpha-1})} \right), & \alpha = \beta \neq 1; \\ \exp \left( \frac{\sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) ((\log x_i)^2 - (\log y_i)^2)}{2 \sum_{i=1}^n p_i (h_i(x_i) - h_i(y_i)) (\log x_i - \log y_i)} \right), & \alpha = 1; \end{cases}$$

THEOREM 3.14. For  $p, r, s, t \in \mathbb{R}$  such that  $r \leq s$  and  $p \leq t$  we have

$$M_{p,r} \leq M_{t,s}.$$

*Proof.* The proof is similar to the proof of Theorem 2.11.

REMARK 3.15. If we put  $p = \alpha - 1, r = \beta - 1, s = \gamma - 1, t = \delta - 1$  in the above theorem we get

$$\tilde{M}_{\alpha,\beta} \leq \tilde{M}_{\delta,\gamma}$$

where  $\alpha \neq \beta, \gamma \neq \delta$  and  $\alpha \leq \delta, \beta \leq \gamma$

REMARK 3.16. If in our results we substitute  $h_i(x) = x$  and  $h_i(y) = y$  then we get results proved in [5].

REMARK 3.17. Integral version of generalized  $K$ -divergence can be defined as:

$$K_{\phi,n} = \int (h_1(x(s), s) - h_1(y(s), s)) \left( \frac{f}{h}(x(s)) - \frac{f}{h}(y(s)) \right) d\mu(s) \tag{29}$$

where  $x, y$  are real valued functions such that  $h_1$  is strictly increasing in the first variable and  $\frac{f}{h}$  is strictly increasing. Similar results can also be obtained for integral version.

## REFERENCES

- [1] M. ANWAR AND J. PEČARIĆ, *New Means of Cauchy's type*, J. Inequal. and Appl. Vol. **2008** (2008), Article ID 163202.
- [2] M. ANWAR, N. LATIF AND J. PEČARIĆ, *Cauchy Means of the Popoviciu type*, J. Inequal. and Appl. Vol. **2009** (2009), Article ID 628051.
- [3] J. BURBEA AND C. R. RAO, *On Convexity Of Some Divergence Measure Based On Entropy Functions*, IEEE Transactions on Information Theory vol. **IT-28**, 3 (May 1982).
- [4] R. G. GALLAGER, *Information Theory and Reliable Communication*, Willy, New York, 1968.
- [5] S. HUSSAIN, *On Jensen's and related Inequalities*, Thesis.
- [6] R. C. LEWONTON, *The apportionment of human diversity*, Evolutionary Biology **6** (1973), 381–398.
- [7] J. E. PEČARIĆ, F. PROSCHAN AND Y. C. TONG, *Convex functions, Partial Orderings and Statistical Applications*, Academic Press, New York, 1992.
- [8] E. C. PIELOU, *Ecological Diversity*, Willy, New York, 1975.
- [9] C. R. RAO, *Diversity and dissimilarity coefficients: a unified approach*, University of Pittsburgh Tech. Rep. 80–10, 1980.

(Received February 24, 2011)

*M. Anwar*  
*Centre for Advanced Mathematics and Physics*  
*National University of Sciences and Technology*  
*Islamabad, Pakistan*  
*e-mail: matloob1@yahoo.com*

*G. Farid*  
*Abdus Salam School of Mathematical Sciences*  
*GC University*  
*Lahore, Pakistan*  
*e-mail: faridphdsms@hotmail.com*

*J. Pečarić*  
*University Of Zagreb*  
*Faculty Of Textile Technology*  
*Zagreb , Croatia*  
*and*  
*Abdus Salam School of Mathematical Sciences*  
*GC University*  
*Lahore, Pakistan*  
*e-mail: pecaric@mahazu.hazu.hr*